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1. With reference to cabinet mission, which of the following statements
is/are correct?

1. It recommended a federal government.
2. It enlarged the powers of the Indian courts.
3. It provided for more Indians in the ICS.

Select the correct answer using the code given below.

A 1 only

B 2 and 3

C 1 and 3

D None

Solution

The Cabinet Mission recommended a loose three-tier confederation.

India was to remain united. It was to have a weak central

government controlling only foreign affairs, defence and

communications with the existing provincial assemblies being

grouped into three sections while electing the constituent assembly:

Section A for the Hindu majority provinces, and Sections B and C

for the existing provincial of the north-west and the north-east

(including Assam) respectively. The sections or groups of provinces
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would comprise various regional units. They would have the power

to set up intermediate-level executives and legislatures of their own.
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2. Which one of the following National Parks has a climate that varies
from tropical to subtropical, temperate and arctic?

A Khangchendzonga National park

B Nandadevi National Park

C Neora Valley National Park

D Namdapha National park

Solution

Both Khangchendzonga and Nandadevi National park do not

have tropical vegetation.

Namdapha National Park is the largest protected area in the Eastern

Himalaya biodiversity hotspot and is located in Arunachal Pradesh

in Northeast India.

The area is also known for extensive Dipterocarp forests, comprising

the northwestern parts of the ecoregion of Mizoram-Manipur-Kachin

rain forests.

The habitat changes with increasing altitude from tropical moist

forests to Montane forests, temperate forests and at the higher

elevations, to Alpine meadows and perennial snow.

The park has extensive bamboo forests and secondary forests in

addition to the primary forests.
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3. Amnesty International is

A an agency of the United Nations to help refugees of civil wars

B a global Human Rights Movement

C a non-governmental voluntary organization to help very poor people

D

an inter-governmental agency to cater to medical emergencies in war-ravaged
regions
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Solution

As per the website of Amnesty International, “Amnesty International

is a global movement of more than 7 million people who take

injustice personally. We are campaigning for a world where

human rights are enjoyed by all.”

Amnesty International throws light on human rights violations by

governments, armed political groups, companies, etc., via different

sources like newsletters, annual reports, and background papers.

it is primarily a Non-Governmental Organisation.

Amnesty International is organised to make it possible for ordinary

people to speak up – to protest on behalf of other human beings who

are in danger.
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4. With reference to art and archaeological history of India, which one
among the following was made earliest?

A Lingaraja Temple at Bhubaneswar

B Rock-cut Elephant at Dhauli

C Rock-cut Monuments at Mahabalipuram

D Varaha Image at Udayagiri

Solution

Lingaraja Temple at Bhubaneshwar: It is believed that the temple

might have been built during the time of Lelat Indra Kesari (615 to

657 A.D.)

Rock cut elephant at Dhauli: It is situated on top of a major edict of

Ashoka inscribed immediately after the Kalinga War.

Rock cut monument at Mahabalipuram: Pallava Period

Varaha image at udayagiri: Gupta Period

Rock-cut Elephant at Dhauli was created during Ashoka’s reign

(272-231 BC), hence this is the oldest among the four.
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5. With reference to Indian history, which of the following is/are the
essential elementary elements of the feudal system?

1. A very strong centralized political authority and a very weak
provincial or local political authority

2. Emergence of administrative structure based on control and
possession of land

3. Creation of lord-vassal relationship between the feudal lord and
his overlord

Select the correct answer using the code given below.

A 1 and 2 only

B 2 and 3 only

C 3 only

D 1, 2 and 3

Solution

The terms feudalism and feudal system were generally applied to the

early and central Middle Ages—the period from the 5th century,

when central political authority in the Western empire disappeared,

to the 12th century, when kingdoms began to emerge as effective

centralized units of government.
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Broadly defined, it was a way of structuring society around

relationships derived from the holding of land in exchange for

service or labour (lord-vassal relationship).

Use of the term feudalism to describe India applies a concept of

medieval European origin, according to which the landed nobility

held lands from the Crown in exchange for military service, and

vassals were in turn tenants of the nobles, while the peasants

(villeins or serfs) were obliged to live on their lord’s land and give

him homage, labor, and a share of the produce, notionally in

exchange for military protection.

The term Indian feudalism is an attempt to classify Indian history

according to a European model.

Feudalism, in its various forms, usually emerged as a result of the

decentralization of an empire: especially in the Carolingian empires

which both lacked the bureaucratic infrastructure necessary to

support cavalry without the ability to allocate land to these mounted

troops.
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6. ‘BioCarbon Fund Initiative for Sustainable Forest Landscapes’ is
managed by the

A Asian Development Bank

B International Monetary Fund

C United Nations Environment Programme

D World Bank

Solution

Three nations are funding a major new BioCarbon Fund initiative to

support forest landscapes. The funding pledge was announced

during an event at the United Nations’ climate summit in Warsaw,

known as COP19.

Norway, the United Kingdom, and the United States together

committed $280 million – up to $135 million from Norway, $120

million from the U.K, and $25 million from the U.S. – as part of

their efforts to slow climate change.

The initiative will be managed by the BioCarbon Fund, a public-

private program housed within the World Bank that mobilizes

finance for activities that sequester or conserve carbon emissions in

forest and agricultural systems.
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7. India is a member of which of the following?

1. Asia-Pacific economic corporation.

2. Association of South-East Asian Nations.

3. East Asia Summit

Select the correct answer using the code given below.

A 1 and 2 only

B 3 only

C 1, 2, and 3

D India is a member of none of them

Solution

The participating APEC economies are: Australia, Brunei

Darussalam, Canada, Chile, China, Hong Kong-China, Indonesia,

Japan, Republic of Korea, Malaysia, Mexico, New Zealand, Papua

New Guinea, Peru, Philippines, Russia, Singapore, Chinese Taipei,

Thailand, United States, and Vietnam.

Members of ASEAN: Brunei Darussalam, Cambodia, Indonesia,

Laos, Malaysia, Myanmar, Philippines, Singapore, Thailand, and

Vietnam.
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Members of East Asia Summit: ten ASEAN countries (Brunei,

Cambodia, Indonesia, Laos, Malaysia, Burma, the Philippines,

Singapore, Thailand, Vietnam), Australia, China, India,

The East Asia Summit is a unique Leaders-led forum of 18 countries

of the Asia-Pacific region formed to further the objectives of

regional peace, security and prosperity. It has evolved as a forum for

strategic dialogue and cooperation on political, security and

economic issues of common regional concern and plays an

important role in the regional architecture.

Apart from the ASEAN member states, the East Asia Summit

includes India, China, Japan, the Republic of Korea, Australia,

New Zealand, the US and Russia.
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8. In India the steel production industry requires the import of

A saltpeter

B rock phosphate

C coking coal

D All of the above

Solution

Saltpetre (Potassium nitrate) is not used in the production of steel. It

is instead used in fertilizers, tree stump removal, rocket propellants

and fireworks.

It is one of the major constituents of gunpowder (blackpowder) and

has been used since the Middle Ages as a food preservative.

Saltpetre and rockphosphate are not utilized by majority Steel

companies in India. Further, India is a producer of saltpetre and

usually does not import this product in large quantity

India definitely imports coking coal. It requires 0.8 tonnes coking

coal to produce one tonne of steel. The government had recently

imposed a 2.5 per cent duty on coking coal import.
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9. The provisions in the Fifth Schedule and Sixth Schedule in the
Constitution of India are made in order to ?

A Protect the interests of Scheduled Tribes

B Determine the boundaries between states

C Determine the powers, authorities, and responsibilities of Panchayats

D Protect the interests of all the border States

Solution

Article 244 in Part X, envisages a special system of administration

for certain areas designated

as “scheduled Areas” and “Tribal areas”.

5th schedule relates to the administration and control of scheduled

areas and scheduled

tribes in any state except four states of Assam, Meghalaya, Tripura, and

Mizoram.

6th schedule deals with administration of tribal areas in four

Northeaster states of Assam,

Meghalaya, Tripura, and Mizoram.
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The President is empowered to declare an area as scheduled area.

Schedule I/IV deals with states.

Schedule XI deal with panchayats.
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10. With reference to the Union Government consider the following
statements.

1. The Department of Revenue is responsible for the preparation
of Union Budget that is presented to the parliament

2. No amount can be withdrawn from the Consolidated Fund of
India without the authorization of Parliament of India.

3. All the disbursements made from Public Account also need the
Authorization from the Parliament of India

Which of the following statements given above is/are correct?

A 1 and 2 only

B 2 and 3 only

C 2 only

D 1, 2 and 3

Solution

Department of Economic affairs is the nodal agency of the Union

government for the preparation of Union budget excluding railway

budget.
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Public Accounts includes provident fund deposits, judicial deposits,

savings bank deposits, departmental deposits, remittances and so on.

This account is operated by executive action, that is, the payments

from this account can by made without parliamentary appropriation.

Such payments are mostly in the nature of banking transactions. So

only second statement is correct.

Under the provisions of Article 112 the government cannot withdraw

from the consolidated fund, without legislative authorization.

The receipts under Public accounts do not constitute normal receipts

of government, hence parliamentary authorization for payments

from this account is not required.
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11. Who/Which of the following is the Custodian of the Constitution of
India?

A The President of India

B The Prime Minister of India

C The Lok Sabha Secretariat

D The Supreme Court of India
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Solution

Parliamentary democracy as envisaged in the Constitution of India

works, at Union and State level. Especially in the making of law,

there is direct participation of the legislature and the executive. It is

the judiciary that safeguards the interest of citizens by not allowing

the other organs to go beyond their role assigned in the Constitution.

In brief, the Supreme Court of India is the logical and primary

custodian of the Indian Constitution

while also being its interpreter and guardian. Parliament enjoys the

authority to amend the Constitution; the Supreme Court has the

authority to examine the validity of constitutional amendments. The

Supreme Court ensures that the other branches of government

perform their responsibilities in accordance with the Constitution
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12. Consider the following statements:

1. The Accelerated Irrigation Benefits Programme was launched
during 1996-97 to provide loan assistance to poor farmers.

2. The Command Area Development Programme was launched in
1974-75 for the development of water-use efficiency.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

The government of India launched Accelerated Irrigation Benefits

Program (AIBP) in 1996-97.

This program was launched to give loan assistance to the states to

help them a few major irrigation projects which were in advanced

stage of completion.

The Command Area Development Programme was launched as a

Centrally-sponsored scheme in 1974-75 with the main objectives of

improving utilization of irrigation potential and optimizing
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agricultural productivity and production from the irrigated areas by

integrating all functions related with irrigated agriculture. Hence

only statement 2 is correct.
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13. The Genetic Engineering Appraisal Committee is constituted under
the

A Food Safety and Standards Act, 2006

B Geographical Indications of Goods (Registration and Protection) Act, 1999

C Environment (Protection) Act, 1986

D Wildlife (Protection) Act, 1972

Solution

The Genetic Engineering Appraisal Committee (GEAC) is the apex

body constituted in the Ministry of Environment and Forests under

‘Rules for Manufacture, Use, Import, Export and Storage of

Hazardous Microorganisms/Genetically Engineered Organisms or

Cells 1989’, under the Environment Protection Act, 1986.

It is the apex body to accord notified under Rules 1989, for approval

of activities involving large scale use of hazardous microorganisms

and recom¬binants in research and industrial production from the

environ¬mental angle.

The GEAC is also responsible for ap¬proval of proposals relating to

release of genetically engineered organisms and products into the

environment, including experimen¬tal field trials (Biosafety

Research Level trial-I and II known as BRL-I and BRL-II).
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14. In the Mekong-Ganga Cooperation, an initiative of six countries,
which of the following is/are not a participant/ participants?

1. Bangladesh
2. Cambodia
3. China
4. Myanmar
5. Thailand

Select the correct answer using the code given below.

A 1 only

B 2, 3 and 4

C 1 and 3

D 1, 2 and 5

Solution

The Mekong–Ganga Cooperation (MGC) was established on

November 10, 2000 at Vientiane at the First MGC Ministerial

Meeting.

It comprises six member countries, namely India, Thailand,

Myanmar, Cambodia, Laos and Vietnam.

They emphasised four areas of cooperation, which are tourism,

culture, education, and transportation linkage in order to be solid
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foundation for future trade and investment cooperation in the region.
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15. ‘Basel III Accord’ or simply ‘Basel III’, often seen in the news, seeks
to

A

develop national strategies for the conservation and sustainable use of biological
diversity

B

improve banking sector’s ability to deal with financial and economic stress
and improve risk management

C

reduce the greenhouse gas emissions but places a heavier burden on developed
countries

D

transfer technology from developed Countries to poor countries to enable them to
replace the use of chlorofluorocarbons in refrigeration with harmless chemicals

Solution

Basel III (or the Third Basel Accord) is a global, voluntary

regulatory framework on bank capital adequacy, stress testing and

market liquidity risk.

It was agreed upon by the members of the Basel Committee on

Banking Supervision in 2010–11, and was scheduled to be

introduced from 2013 until 2015.
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The Basel Committee on Banking Supervision (BCBS) is the

primary global standard setter for the prudential regulation of banks

and provides a forum for regular cooperation on banking

supervisory matters for the central banks of different countries.

It was established by the Central Bank governors of the Group of

Ten countries in 1974. The committee expanded its membership in

2009 and then again in 2014. The BCBS now has 45 members from

28 Jurisdictions, consisting of Central Banks and authorities with

responsibility of banking regulation.

It provides a forum for regular cooperation on banking supervisory

matters. Its objective is to enhance understanding of key supervisory

issues and improve the quality of banking supervision worldwide.
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16. Consider the following statements

1. The winds which blow between 30 degrees N and 60 degrees S
latitudes throughout the year are known as westerlies.

2. The moist air masses that cause winter rams in North-Western
region of India are part of westerlies.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

Westerlies flow between latitudes 30-60 degrees North and 30-60

degrees South. The statement mentions 30N-60S. So it is wrong.

The western cyclonic disturbances are weather phenomena of the

winter months brought in by the westerly flow from the

Mediterranean region.

Western Disturbance occurs in India, Pakistan, Bangladesh and

Nepal to describe an extratropical storm originating in the

Mediterranean, that brings sudden winter rain and snow to the
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northwestern parts of the Indian subcontinent. This is a non-

monsoonal precipitation pattern driven by the Westerlies.

They usually influence the weather of the north and north-western

regions of India.

They are a non-monsoonal precipitation pattern driven by the

Westerlies.

Hence statement 2 is correct.
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17. With reference to ‘Indian Ocean Rim Association for Regional
Cooperation (IOR-ARC)’, Consider the following statements:

1. It was established very recently in response to incidents of
piracy and accidents of oil spills

2. It is an alliance meant for maritime security only

Which of the following statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

The Indian Ocean Rim Association (IORA), formerly known as the

Indian Ocean Rim Initiative and Indian Ocean Rim Association for

Regional Cooperation (IOR-ARC), is an international organisation

consisting of coastal states bordering the Indian Ocean.

The IORA is a regional forum, tripartite in nature, bringing together

representatives of Government, Business and Academia, for

promoting co-operation and closer interaction among them.
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It is based on the principles of Open Regionalism for strengthening

Economic Cooperation particularly on Trade Facilitation and

Investment, Promotion as well as Social Development of the region.

The Coordinating Secretariat of IORA is located at Ebene,

Mauritius.

The organisation was first established as Indian Ocean Rim Initiative

in Mauritius on March 1995 and formally launched on 6–7 March

1997 by the conclusion of a multilateral treaty known as the Charter

of the Indian Ocean Rim Association for Regional Co-operation.
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18. Which one of the following movements has contributed to a split in
the Indian National Congress resulting in emergence of ‘moderates’
and ‘extremists’?

A Swadeshi Movement

B Quit India Movement

C Non-Cooperation Movement

D Civil Disobedient Movement

Solution

Difference between moderates and extremists widened in Calcutta

Session of congress (1906) and there were attempts between them to

elect one of them as the president of congress.

The moderates opposed the resolutions on Swaraj, Swadeshi,

Boycott of foreign goods and National Education and requested to

withdraw from the policy laid down in the Calcutta session. But the

extremists were not ready to do so.

In Surat Session (1907), extremists wanted Lala Lajpat Rai or Tilak

as a President candidate of congress and Moderates supported Dr.

Rashbihari Ghosh to be the President.

But Lala Lajpat Rai stepped down and Dr. Rashbihari Ghosh

became the President.
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The Swadeshi movement started with the partition of Bengal by the

Viceroy of India, Lord Curzon, 1905 and continued up to 1911.

Quit India Movement – 1942

Non-Cooperation Movement – 1920

Civil Disobedience Movement – 1930
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19. In a particular region in India, the local people train the roots of
living tree into robust bridges across the streams. As the time passes
these bridges become stronger. These unique ‘Living Root Bridges’
are found in

A Meghalaya

B Himachal Pradesh

C Jharkhand

D Tamil Nadu

Solution

Meghalaya’s double-decker and single-decker root bridges are

unique in the world and are a sight to behold.

The bridges are tangles of massive thick roots, which have been

intermingled to form a bridge that can hold several people at a time.

Khasi people have been trained to grow these bridges across the

raised banks of streams to form a solid bridge, made from roots.

The living bridges are made from the roots of the Ficus elastic tree,

which produces a series of secondary roots that are perched atop

huge boulders along the streams or the riverbanks to form bridges.

The root bridges, some of which are over a hundred feet long, take

ten to fifteen years to become fully functional, but they’re
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extraordinarily strong – strong enough that some of them can

support the weight of fifty or more people at a time.

The bridges are alive and still growing and gain strength over time.
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20. Tides occur in oceans and seas due to which of the following?

1. Gravitational Force of the Sun
2. Gravitational Force of the Moon
3. Gravitational Force of the Earth

Select the correct answer using the code given below

A 1 only

B 2 and 3 only

C 1 and 3 only

D 1, 2, and 3

Solution

The tide-raising forces at the earth’s surface result from a

combination of basic forces:

The periodical rise and fall of the sea level, once or twice a day

,mainly due to attraction of Sun and Moon. Another factor is

centrifugal force, which is the force that acts to counter balance the

gravity.
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the force of gravitation exerted by the moon (and sun) upon the

earth; and centrifugal forces produced by the revolutions of the earth

and moon (and earth and sun) around their common center-of-

gravity (mass) or barycenter.
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21. In which of the following activities are Indian Remote Sensing (IRS)
satellites used?

1. Assessment of crop productivity
2. Locating ground water resources
3. Mineral exploration
4. Telecommunications
5. Traffic studies

Select the correct answer using the code given below.

A 1, 2 and 3 only

B 4 and 5 only

C 1 and 2 only

D 1, 2, 3, 4 and 5

Solution

For telecommunications geo-stationary satellites are used.

Hence, you can easily eliminate statement 4, which then also

eliminates statement 5 (because both occur together).

Under remote sensing, Hyperspectral imaging produces an image

where each pixel has full spectral information with imaging narrow

spectral bands over a contiguous spectral range.
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Hyperspectral imagers are used in various applications including

mineralogy, biology, defence, and environmental measurements.

So, the only possible answer can be A.
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22. Consider the following States:

1. Arunachal Pradesh
2. Himachal Pradesh
3. Mizoram

In which of the following states do “Tropical Wet Evergreen Forests”
occur?

A 1 only

B 2 and 3 only

C 1 and 3 only

D 1, 2 and 3

Solution

These are typical rain forests which grow in those areas where the

annual rainfall exceeds 250 cm, the annual temperature is about

25°-27°C the average annual humidity exceeds 77 per cent and the

dry season is distinctly short.

The true evergreen forests are found along the western side of the

Western Ghats (between 500 to 1370 metres above sea level) south

of Mumbai, in a strip running from northeast to south-west direction

across Arunachal Pradesh, Upper Assam, Nagaland, Manipur,
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Mizoram and Tripura upto a height of 1070 metres and in the

Andaman and Nicobar Islands.
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23. The term ‘IndARC’ sometimes seen in the news, is the name of?

A an indigenously developed radar system inducted into Indian Defence

B India’s satellite to provide services to the countries of Indian Ocean Rim

C a scientific establishment set up by India in Antarctic region

D

India’s underwater observatory to scientifically study the Arctic region

Solution

A major milestone in India’s scientific endeavors in the Arctic region

has been achieved on the 23rd July, 2014 when a team of scientists

from the ESSO-National Centre for Antarctic and Ocean Research

(NCAOR) and the ESSO-National Institute of Ocean Technology

(NIOT) successfully deployed IndARC, the country’s first multi-

sensor moored observatory in the Kongsfjorden fjord of the Arctic,

roughly half way between Norway and the North Pole.

This moored observatory, designed and developed by ESSO-NIOT

and ESSO-NCAOR with ESSO-Indian National Centre for Ocean

Information Services (INCOIS) was deployed from the Norwegian

Polar Institute’s research vessel R.V. Lance during its annual MOSJ-

ICE cruise to the Kongsfjorden area. The observatory is presently

anchored (78°57´ N 12°01´E), about 1100 km away from the North
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Pole at a depth of 192 m and has an array of ten state-of-the-art

oceanographic sensors strategically positioned at discrete depths in

the water column.

These sensors are programmed to collect real-time data on seawater

temperature, salinity, current and other vital parameters of the fjord.
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24. With reference to ‘Forest Carbon Partnership Facility’, which of the
following statements is/are correct?

1. it is global partnership of governments, businesses, civil society
and indigenous peoples

2. it provides financial aid to universities, individual scientists and
institutions involved in scientific forestry research to develop
eco-friendly and climate adaptation technologies for sustainable
forest management

3. It assists the countries in their ‘REDD+ (Reducing Emission
from Deforestation and Forest Degradation+)’ efforts by
providing them with financial and technical assistance.

Select the correct answer using the code given below.

A 1 only

B 2 and 3 only

C 1 and 3 only

D 1, 2 and 3

Solution

The Forest Carbon Partnership Facility is a global partnership of

governments, businesses, civil society, and Indigenous Peoples

focused on reducing emissions from deforestation and forest
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degradation, forest carbon stock conservation, the sustainable

management of forests, and the enhancement of forest carbon stocks

in developing countries

The four strategic objectives of the FCPF:

To assist countries in their REDD+ efforts by providing them with

financial and technical assistance in building their capacity to

benefit from possible future systems of positive incentives for

REDD+. To pilot a performance-based payment system for REDD+

activities, with a view to ensuring equitable benefit sharing and

promoting future large-scale positive incentives for REDD+.

Within the approach to REDD+, to test ways to sustain or enhance

livelihoods of local communities and to conserve biodiversity. To

disseminate broadly the knowledge gained in the development of the

Facility and the implementation of Readiness Preparation Proposals

(RPPs) and Emission Reductions Programs (ERPs). FCPF grants

fund to developing countries but not to to universities, individual

scientists and institutions.
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25. Which one of the following was given classical language status
recently?

A Odia

B Konkani

C Bhojpuri

D Assamese

Solution

On February 20th 2014, Odia became the sixth and latest

language of the country to get “classical language’’ status after the

Union Cabinet conceded a long-pending demand for putting it in the

same league as Sanskrit, Tamil, Telugu, Kannada and

Malayalam.

Odia is billed as the first language from the IndoAryan linguistic

group and the case for making it a classical language was also

premised on the fact that it has no resemblance to Hindi, Sanskrit,

Bengali and Telugu.
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26. With reference to an organization known as ‘Birdlife International’
which of the following statements is/are correct?

1. It is a Global Partnership of Conservation Organizations.
2. The concept of ‘biodiversity hotspots’ originated from this

organization.
3. It identifies the sites known/referred to as ‘Important Bird and

Biodiversity Areas’.

Select the correct answer using the code given below.

A 1 only

B 2 and 3 only

C 1 and 3 only

D 1, 2 and 3

Solution

BirdLife international is a global partnership of conservation

organisations that strives to conserve birds, their habitats and global

biodiversity, working with people towards sustainability in the use

of natural resources.

It is the World’s largest partnership of conservation organisations,

with over 120 partner organizations 120 partner organizations.
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Together the BirdLife Partnership forms the leading authority on the

status of birds, their habitats and the issues and problems affecting

bird life.

Bird Life’s Important Bird and Biodiversity Area (IBA)

Programme aims to identify, monitor and protect a global network of

IBAs for the conservation of the world’s birds and other wildlife.
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27. Which one of the following countries of South-West Asia does not
open out to the Mediterranean Sea?

A Syria

B Jordan

C Lebanon

D Israel

Solution

Jordan has Israel on its west and Syria on its North. Henceforth out

of all these countries Jordan does not open out to the Mediterranean

Sea.
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28. In India, in which one of the following types of forests is teak a
dominant tree species?

A Tropical moist deciduous forest

B Tropical rain forest

C Tropical thorn scrub forest

D Temperate forest with grasslands

Solution

Tropical moist deciduous forests exist mostly in the eastern part of

the country – northeastern states, along the foothills of the

Himalayas, Jharkhand, West Orissa and Chhattisgarh, and on the

eastern slopes of the Western Ghats.

Teak is the most dominant species of this forest.

Bamboos, sal, shisham, sandalwood, khair, kusum, arjun, mulberry

are other commercially important species.
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29. ‘Beijing Declaration and Platform for Action’ often seen in the news,
is

A

a strategy to tackle the regional terrorism, an outcome of a meeting of the
Shanghai Cooperation Organization.

B

a plan of action for sustainable economic growth in the Asia-Pacific Region, an
outcome of deliberations of the Asia-Pacific Economic Forum

C

an agenda for women’s empowerment, an outcome of a World Conference
convened by the United Nations

D

a strategy to combat wildlife trafficking, a declaration of the East Asia Summit

Solution

The Platform for Action is an agenda for women’s empowerment.

The Fourth World Conference on Women held in Beijing in 1995.

The legacy of the Beijing Conference was to be that it sparked a

renewed global commitment to the empowerment of women

everywhere and drew unprecedented international attention. The

Conference unanimously adopted the Beijing Declaration and

Platform for Action, that was in essence an agenda for women's

empowerment and stands as a milestone for the advancement of

women in the twenty-first century.
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It aims at accelerating the implementation of the Nairobi Forward-

looking Strategies for the Advancement of Women and at removing

all the obstacles to women’s active participation in all spheres of

public and private life through a full and equal share in economic,

social, cultural and political decision-making.
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30. “Each day is more or less the same, the morning is clear and bright
with a sea breeze; as the sun climbs high in the sky, heat mounts up,
dark clouds form, than rain comes with thunder and lightning. But
rain is soon over.”

Which of the following regions is described in the above passage?

A Savannah

B Equatorial

C Monsoon

D Mediterranean

Solution

Equatorial – Most regions along the equator have very hot and

humid climates.

Rainfall can be excessive and at certain times of the year

thunderstorm can occur on a daily basis.

Annual rainfall is normally is excess of 2000 mm with heavy

showers on most afternoons.

This pattern of rainfall is due to wind patterns, which creates ideal

conditions (warm, moist, unstable air) for the formation of storm

clouds.
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31. With reference to India economy, consider the following statements:

1. The rate of growth of real Gross Domestic Product has steadily
increased in the last decade.

2. The Gross Domestic Product at market prices (in rupees) has
steadily increased in the last decade

Which of the statement given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

Rate of growth of Real Gross Domestic Product has fluctuated a lot

during the last decade and decreased significantly in 2008-09 due to

global financial crisis. Gross Domestic Product at market prices (in

rupees) has increased and did not show a declining treand even once

during the last decade as clearly seen from the planning commission

data .
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While growth of Real Gross Domestic Product declined during the

last three years of the decade, GDP at market price increased

steadily due to rising prices even when growth rate was small during

the last three years of the decade.
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32. Consider the following statements:

1. The Legislative Council of a state in India can be larger in size
than half of the Legislative Assembly of that particular state.

2. The Governor of a state nominates the Chairman of Legislative
Council of that particular state.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2
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Solution

Both the statements are false. Part VI of the constitution deals with

the states.

The members of the legislative Council are indirectly elected.

The maximum strength of the Council is fixed at 1/3rd of the

Legislative assembly of the Concerned State with the minimum,

strength fixed at 40.

Though the Constitution has fixed the minimum and maximum, the

actual number is fixed by Parliament.
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33. “To uphold and protect the Sovereignty Unity and Integrity of India”
is a provision made in the

A Preamble of the Constitution

B Directive Principles of State Policy

C Fundamental Rights

D Fundamental Duties

Solution

Fundamental duties in Part IV-A, Articles 51-A provision (c) relates

to “to uphold and protect the sovereignty, unity and integrity of

India.

Fundamental duties were added by 42nd constitutional Amendment,

Initially (8) in number, now there are (11), the latest being 51-A (k)

after 86th CAA, 2002
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34. Which one of the following is the best description of the term
“ecosystem”?

A A community of organisms interacting with one another

B That part of the Earth which is inhabited by living organisms

C

A community of organisms together with the environment in which they live

D The flora and fauna of a geographical area

Solution

An ecosystem is a community of living organisms in conjunction

with the non-living components of their environment, interacting as

a system.

These biotic and abiotic components are regarded as linked together

through nutrient cycles and energy flows.

An ecosystem includes all of the living things (plants, animals and

organisms) in a given area, interacting with each other, and also with

their non-living environments (weather, earth, sun, soil, climate,

atmosphere).
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35. The objective of Panchayati Raj system is to ensure which among the
following?

1. People’s participation in development
2. Political accountability
3. Democratic decentralization
4. Financial mobilization

Select the correct answer using the code given below

A 1, 2 and 3 only

B 2 and 4 only

C 1 and 3 only

D 1, 2, 3 and 4

Solution

According to the UPSC answer key, the correct answer is '1 and 3 only.'

However, multiple reputable textbooks support the view that '1, 2, 3, and 4'

is the correct answer.

Democratic Decentralization: This is a primary objective of the

Panchayati Raj system. It aims to decentralize political power and

decision-making to the local level, allowing local communities to

have a say in their own development and governance.
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People's Participation in Development: The system seeks to involve

people at the grassroots level in the planning, implementation, and

monitoring of development projects and programs. It aims to

empower citizens to actively participate in shaping their own

communities.

Political Accountability: The Panchayati Raj system intends to

establish a mechanism of accountability in local governance. Local

representatives are responsible for their actions and decisions, and

they are accountable to the people they represent.

Financial Mobilization: While not the primary objective, financial

mobilization is also a part of the Panchayati Raj system. Local

bodies are given certain financial powers to collect revenues and

manage local resources, allowing them to fund and manage local

development projects.
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36. With reference to India economy, consider the following :

1. Bank rate
2. Open market operations
3. Public debt
4. Public revenue

Which of the above is/are component/components of Monetary
Policy?

A 1 only

B 2, 3 and 4

C 1 and 2

D 1, 3 and 4

Solution

Public debt and Public revenue are matters falling under Fiscal

policy.

The Ministry of Finance handles these subjects.

Bank rate and OMOs fall within the jurisdiction of RBI’s monetary

policy.

Over the last two decades, central banks have veered round to

conducting monetary policy through a single short-term interest rate
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as a policy rate that it controls through open market operations

(OMOs).

These OMOs are conducted under an operating framework that

typically includes liquidity infusion/absorption through repurchase

agreements (repos) or outright transactions in eligible securities

between the central bank and the market participants. Public

Revenue and debt are not part of monetary policy. These are related

to fiscal policy.
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37. Which reference to inflation in India, which of the following
statements is correct?

A

Controlling the inflation in India is the responsibility of the Government of India
only

B The Reserve Bank of India has no role in controlling the inflation

C Decreased money circulation helps in controlling the inflation

D Increased money circulation helps in controlling the inflation

Solution

RBI and government both play a role in controlling the inflation,

often termed as "inflation targeting" by the RBI. Hence, a and b are

incorrect. Increased money circulation leads to increased inflation as

demand increases. RBI increases bank rates and SLR etc. to reduce

money supply in the market which tames demand and hence,

inflation.

Decreased money circulation leads to lesser money in hands of

people to spend.

Hence, lower demand (given the same supply) leads to falling prices

fall and reduced inflation.
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38. Consider the following countries

1. China
2. France
3. India
4. Israel
5. Pakistan

Which among the above are Nuclear Weapons States as recognized
by the Treaty on the Nonproliferation of Nuclear Weapons,
commonly known as Nuclear Non-Proliferation Treaty (NPT)?

A 1 and 2 only

B 1, 3, 4 and 5 only

C 2, 4 and 5 only

D 1, 2, 3, 4 and 5

Solution

he treaty recognizes five states as nuclear-weapon states: the

United States, Russia, the United Kingdom, France, and China

(also the five permanent members of the United Nations Security

Council).

Four other states are known or believed to possess nuclear weapons:

India, Pakistan and North Korea have openly tested and declared
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that they possess nuclear weapons, while Israel has had a policy of

opacity regarding its nuclear weapons program.

So, you can conclude that Israel can never be a part of the answer

which directly points out to option A as the answer.
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39. The ideal of “Welfare State” in the Indian Constitution is enshrined
in its

A Preamble

B Directive Principles of State Policy

C Fundamental Rights

D Seventh Schedule

Solution

In a welfare State, the functions of the State are not only the defence

of the country or administration of justice or maintaining law and

order but it extends to regulating and controlling the activities of the

people in almost every sphere—educational, commercial, social,

economic, political and even marital.

DPSP thus promotes the ideal of a welfare state as it guides the state

in making policies for the socio-economic well being of the people

of India.

Preamble, option A, will NOT be the answer because it simply lists

the socio-economic objectives of Indian society.

It does not tell us who will design or execute policies based on the

objectives.
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40. The substitution of steel for wooden ploughs in agricultural
production is an example of

A labour-augmenting technological progress

B capital-augmenting technological progress

C capital-reducing technological progress

D None of the above

Solution

“Capital” in an economic context means machinery or capital goods

which can be employed to produce other goods.

Substitution of steel can be considered as the substitution of a lesser

machine by a better machine.

This encourages steel production. Hence it is a capital-augmenting

technological progress.
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41. There is a Parliamentary System of Government in India because the

A Lok Sabha is elected directly by the people

B Parliament can amend the constitution

C Rajya Sabha cannot be dissolved

D Council of Ministers is responsible to the Lok Sabha

Solution

Option A points to a democratic system. It does not necessarily

mean a Parliamentary Democratic system. For e.g. in USA the

Congress is also elected, but it is a Presidential Democracy.

Option D is correct because “Collective responsibility” of the

council of ministers to the Lok Sabha (Article 75) lies at the heart of

a Parliamentary democracy.

This is the bedrock principle of parliamentary government. The

ministers are collectively responsible to the Parliament in general

and to the Lok Sabha .
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42. H1N1 virus is sometimes mentioned in the news with reference to
which one of the following diseases?

A AIDS

B Bird flu

C Dengue

D Swine flu

Solution

Influenza A (H1N1) virus is the most common cause of human

influenza (flu).

In June 2009, the World Health Organization (WHO) declared the

new strain of swine-origin H1N1 as a pandemic.

This strain is often called swine flu by the public media.
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43. With reference to bio-toilets used by the Indian Railways, consider
the following statements:

1. The decomposition of human waste in the bio-toilets is initiated
by a fungal inoculum.

2. Ammonia and water vapour are the only end products in this
decomposition which are released into the atmosphere.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

Statement 1 is incorrect as it is Anaerobic microbial inoculum.

Statement 2 is incorrect as Bio Digester disposes human waste in

100% eco-friendly manner and generates color less, odorless water

and inflammable Methane- Gas for cooking, water heating & room

heating etc. as a by product.

The bio-toilets introduced by the Indian Railway with assistance

from DRDO uses bacteria.
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The anaerobic bacteria named ‘inoculum’ are used in the bio-toilets

have been collected and analysed by DRDO from Antarctica and the

efficiency of this system has been tested in extreme climates and

conditions.

It will be kept in a container under the lavatories that convert human

waste into water and small amounts of gases. Gases will be released

into the atmosphere and the water will be discharged after

chlorination onto the tracks.
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44. The problem of international liquidity is related to the non-
availability of

A goods and services

B gold and silver

C dollars and other hard currencies

D exportable surplus

Solution

The concept of international liquidity is associated with international

payments.

These payments arise out of international trade in goods and services

and also in connection with capital movements between one country

and another.

International liquidity refers to the generally accepted official means

of settling imbalances in international payments which is basically

dollars and hard currencies.
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45. With reference to ‘fuel cells’ in which hydrogen-rich fuel and oxygen
are used to generate electricity, consider the following statements :

1. If pure hydrogen is used as a fuel, the fuel cell emits heat and
water as by-products.

2. Fuel cells can be used for powering buildings and not for small
devices like laptop computers.

3. Fuel cells produce electricity in the form of Alternating Current
(AC).

Which of the statements given above is / are correct?

A 1 only

B 2 and 3 only

C 1 and 3 only

D 1, 2 and 3

Solution

The purpose of a fuel cell is to produce an electrical current that can

be directed outside the cell to do work, such as powering an electric

motor or illuminating a light bulb or a city.

Fuel cells produce direct current and smaller versions are being

patented regularly. Apple has obtained such patents too.
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One great appeal of fuel cells is that they generate electricity with

very little pollution–much of the hydrogen and oxygen used in

generating electricity ultimately combines to form a harmless

byproduct, namely water alongwith releasing heat.

A single fuel cell generates a tiny amount of direct current (DC)

electricity. In practice, many fuel cells are usually assembled into a

stack.

If alternating current (AC) is needed, the DC output of the fuel cell

must be routed through a conversion device called an inverter.
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46. Kalamkari painting refers to

A a hand-painted cotton textile in South India

B a handmade drawing on bamboo handicrafts in North-East India

C a block-painted woollen cloth in Western Himalayan region of India

D a hand-painted decorative silk cloth in North-Western India

Solution

Kalamkari painting is a type of Indian folk textile art that involves

free hand drawing and painting or printing on cloth, mostly cotton.

Derived from the Persian language meaning ‘drawing or crafting

with pen’, Kalamkari is an ancient form of painting that developed

in India over a period of 3,000 years.

Kalahasti and Machilipatnam in Andhra Pradesh, the nerve centres

of this art continue to be beehives of Kalamkari activity.
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47. Which one of the following best describes the main objective of ‘Seed
Village Concept?

A

Encouraging the farmers to use their own farm seeds and discouraging them to
buy the seeds from others

B

Involving the farmers for training in quality seed production and thereby to
make available quality seeds to others at appropriate time and affordable
cost

C Earmarking some villages exclusively for the production of certified seeds

D

Identifying the entrepreneurs in village and providing them technology and
finance to set up seed companies

Solution

Foundation class of seed from authentic sources will be supplied to

the identified farmers and they will be empowered to take up

multiplication of seed under seed Village Programme. The seed so

produced will meet the requirement of farmers of the mandal

/district.

This Programme ensures supply of quality certified seed of high

yielding varieties to the farmers in time at their places at affordable

prices besides ensuring quick multiplication of new seed varieties in

a shorter time in that mandal/district based on the crop situation.
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A village, wherein trained group of fanners are involved (generally

in a self-help group) in production of seeds of various crops and

cater to the needs of themselves, fellow fanners of the village and

fanners of neighboring villages in appropriate time and at affordable

cost is called “a seed village”.
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48. There has been a persistent deficit budget year after year. Which of
the following actions can be taken by the government to reduce the
deficit?

1. Reducing revenue expenditure
2. Introducing new welfare schemes
3. Rationalizing subsidies
4. Expanding industries

Select the correct answer using the code given below.

A 1 and 3 only

B 2 and 3 only

C 1 only

D 1,2,3 and 4

Solution

Budget deficit is used to define a status of financial health in which

expenditures exceed revenue. Reducing the revenue expenditure will

certainly help in bridging the gap. Subsidies are a part of

expenditure and rationalizing them would reduce the deficit.

Introducing new welfare schemes will most likely result in

increasing expenditure and so will expanding industries which

would require capital infusion.
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Since the main component of comprehensive measure of budget

deficit (fiscal deficit) is revenue deficit, reduction in revenue

expenditure in general and rationalizing subsidies (an important

component of revenue expenditure) would be useful to reduce

deficit.

Budget Deficit = Total Expenditures by the Government − Total

Income of the government
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49. Which of the following has/have been accorded ‘Geographical
Indication’ status?

1. Banaras Brocades and Sarees
2. Rajasthani Daal-Bati-Churma
3. Tirupathi Laddu

Select the correct answer using the code given below:

A 1 only

B 2 and 3 only

C 1 only 3 only

D 1, 2 and 3

Solution

At present, Rajasthani Daal-Bati-Churma does not have the

Geographical Indigation tag. Banaras Brocades and Sarees and

Tirupathi Laddu both have the GI tag.

Tirupati Laddu or SriVari Laddu is the laddu sweet offered as

Naivedhyam to Venkateswara at Tirumala Venkateswara Temple in

Tirupati

Banaras Brocade Sarees are made of finely woven silk and

decorated with intricate designs using zari; this ornamentation is
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what makes the sarees heavy. Their special characteristics are

Mughal-inspired designs/elements such as intricate floral and foliate

motifs, such as kalga and bel
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50. With reference to the Indian Renewable Energy Development Agency
Limited (IREDA), which of the following statements is/are correct?

1. It is a Public Limited Government Company.
2. It is a Non – Banking Financial Company.

Select the correct answer using the code given below.

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

IREDA has been awarded “Mini Ratna” (Category -I) status in 2015

by Ministry of New and Renewable Energy (MNRE).

IREDA is a Public Limited Government Company established as a

Non-Banking Financial Institution in 1987.

Under the administrative control of MNRE to promote, develop and

extend financial assistance for renewable energy and energy

efficiency /conservation projects with the motto: “ENERGY FOR

EVER”.
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51. Pradhan Mantri Jan Dhan Yojana has been launched for

A providing housing loan to poor people at cheaper interest rates

B promoting women’s Self Help Groups in backward areas

C promoting financial inclusion in the country

D providing financial help to marginalised communities

Solution

Pradhan mantri Jan Dhan Yojana is a financial inclusive programme

of the government aiming at opening up at least on bank account for

every household and providing insurance cover.

The scheme covers both the urban as well as rural areas and

provides an indigenous Debit Card (RuPay card) to each of its

account holders.

No minimum balance is required for opening an account under this

scheme. The beneficiary can open his/her account in any bank

branch or Business Correspondent outlet at zero balance.

It ensures to provide on Core Banking System (CBS) along with

mobile banking using USSD facilities. A facility of call center and a

toll-free number is available nationwide.

Pradhan Mantri Jan Dhan Yojana provides each beneficiary with

basic banking accounts with a debit card with inbuilt accident
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insurance.

Rs. 5,000 overdraft facility for Aadhar-linked accounts as well as a

RuPay debit card with inbuilt Rs. 1 lakh accident insurance cover is

one of the main features provided by this scheme.

For accounts that are opened between 15th August 2014 and 26th

January 2015, a Life Insurance cover of Rupees 30,000 is provided

to the eligible beneficiaries. Also after remaining active for 6

months, the beneficiary will be eligible for an overdraft of up to Rs

5,000.
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52. With Reference to the Fourteenth Finance Commission, which of the
following statements is/are correct?

1. It has increased the share of States in the central divisible pool
from 32 percent to 42 percent

2. It has made recommendations concerning sector-specific grants

Select the correct answer using the code given below.

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

The commission has recommended states’ share in net proceeds of

tax revenues be 42 per cent, a huge jump from the 32 per cent

recommend by the 13th Finance Commission, the largest change

ever in the percentage of devolution.

As compared to total devolutions in 2014-15, total devolution of

states in 2015-16 will increase by over 45 per cent.

The Fourteenth Finance Commission(FFC) has radically enhanced

the share of the states in the central divisible pool from the current
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32 percent to 42 per cent which is the biggest ever increase in

vertical tax devolution.

The FFC has not made any recommendation concerning sector

specific-grants unlike the Thirteenth Finance Commission.
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53. The ‘Fortaleza Declaration’ recently in the news, is related to the
affairs of:

A ASEAN

B BRICS

C OECD

D WTO

Solution

The 6th BRICS Summit was held in Fortaleza (Brazil).

The theme of the Summit was 'Inclusive Growth-Sustainable

Solutions'.

The participating nations Brazil, Russia, India, China and South

Africa jointly issued the Fortaleza Declaration.
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54. A decrease in tax to GDP ratio of a country indicates which of the
following?

1. Slowing economic growth rates
2. Less equitable distribution of national income

Select the correct answer using the code given below.

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

For the tax/GDP ratio to decrease either the tax collection should

decrease or GDP should increase. Now considering the first

statement if the GDP collection might or might not necessarily

increase with a slow growth rate. Hence this option is ruled out.

Increase in indirect tax collection may lead to less equality in

income distribution but the same cannot be said for increase in direct

tax collection. Hence, even this option can be ruled out.
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55. In the South Atlantic and South Eastern Pacific regions in tropical
latitudes, cyclone does not originate. What is the reason?

A Sea Surface temperature are low

B Inter Tropical Convergence Zone seldom occurs

C Coriolis force is too weak

D Absence of land in those regions

Solution

* Option C is wrong. Coriolis force is weak only in the region around 0-5

degrees North or South latitudes.

*Option B is also wrong. ITCZ formation is not essential to the formation

of cyclones. Cyclones are formed in regions where ITCZ does not form,

for e.g. in North Atlantic.

*Option D is absurd as absence of land boosts cyclones. Presence of land

cuts off moisture from the cyclone. So, the most appropriate answer should

be A.

For cyclone formation, a sea temperature of at least 26 degree

Celsius is needed. In the South-eastern pacific and South Atlantic
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region cold currents are found. This leads to lower sea temperatures.

Hence, cyclones don’t form there.

1/20/25, 12:43 PM Entri | Entri Content Platform

https://streamline.entri.app/#/questioncollections/61231/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en 94/167



56. Which of the following pairs of States of India indicates the
easternmost and Westernmost State?

A Assam and Rajasthan

B Arunachal Pradesh and Rajasthan

C Assam and Gujarat

D Arunachal Pradesh and Gujarat

Solution

Kibithu in Anjaw district in Arunachal Pradesh is the easternmost

point of Indian mainland (28.01744°N/97.40238°E) and the West of

Ghuar Mota in the Kutch region of Gujarat is the westernmost point

of India (23.67° N/ 68.52° E).
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57. Consider the following Statements regarding the DPSP/ Directive
Principles of State Policy:

1. The Principles spell out the socio-economic democracy in the
country

2. The provisions contained in these Principles are not enforceable
by any court.

Which of the statements given below are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

Socio-economic democracy is spelt out because it provides for the

idea of a welfare state. For e.g. consider Article 39 (b) and (c) which

provide for minimizing inequalities in income and wealth; and

ensuring that the wealth is not concentrated in the hands of few.

While other article provide for the health of children, rights of

working women etc.

DPSP is not enforceable by courts. Only Fundamental rights can be

enforced by the courts.
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58. In the Index of Eight Core Industries, which one of the following is
given the highest weight?

A Coal Production

B Electricity generation

C Fertilizer Production

D Steel Production

Solution

The index of Eight Core Industries (base 2004-05=100) concepts of

following industries with different weight ages

(1) Coal (Weight: 4.38%)

(2) Crude oil (Weight: 5.22%)

(3) Natural gas (Weight: 1.71%)

(4) Refinery Products (Weight: 5.94%)

(5) fertilizers (Weight: 1.25%)

(6) Steel (Wight: 6.68%)

(7) Cement (Weight: 2.41%) and

(8) Electricity (Weight: 10.32%).
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59. Which of the following National Parks is unique in being a swamp
with floating vegetation that supports a rich biodiversity?

A Bhitarkanika National Park

B Keibul Lamjao National Park

C Keoladeo Ghana National park

D Sultanpur National park

Solution

It is the only floating park in the world, located in Manipur, North

East India, and an integral part of Loktak Lake.

The national park is characterized by many floating decomposed

plant materials locally called phumdis.

The park is a swamp established by Mann Sharma with floating

mass of vegetation (created by accrual of organic garbage and

biomass with soil particles that has been thickened into a solid form

called phumdis, at the south–eastern side of the Loktak Lake, which

has been declared a Ramsar site.

Two third’s to three fourth’s of the total park area is formed by

phumdis.

1/20/25, 12:43 PM Entri | Entri Content Platform

https://streamline.entri.app/#/questioncollections/61231/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en 99/167



60. Which of the following statements is/are correct regarding National
Innovation Foundation-India (NIF)?

1. NIF is an autonomous body of the Department of Science and
Technology under the Central Government

2. NIF is an initiative to strengthen the highly advanced scientific
research in India’s premier scientific institutions in
collaboration with highly advanced foreign scientific
institutions.

Select the correct answer using the code given below.

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

National Innovation Foundation – India (NIF) is an autonomous

body under the Department of Science and Technology (India),

Government of India. It was set up in February 2000 at Ahmedabad,

Gujarat, India to provide institutional support for scouting,

spawning, sustaining and scaling up the grassroots innovations

across the country.
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NIF conducts a biennial national competition for grassroots green

technologies (not highly advanced) developed by farmers,

mechanics, artisans and others through their own genius without any

recourse to professional help.

NIF validates these innovations with the help of experts, and,

ascertains the novelty in these innovations by doing prior art search.

If the innovation is deemed novel, NIF files a patent on behalf of the

innovator.

NIF also funds value addition initiatives in these innovations to

upscale them and make them more useful for a larger segment of

people.
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61. What can be the impact of excessive/inappropriate use of nitrogenous
fertilizers in agriculture?

1. Proliferation of nitrogen-fixing microorganisms in soil can
occur.

2. Increase in the acidity of soil can take place
3. Leaching of nitrate to the ground-water can occur.

Select the correct answer using the code given below.

A 1 and 3 only

B 2 only

C 2 and 3 only

D 1, 2 and 3

Solution

Statement 1 is absurd. Increasing the amount of nitrogen based

fertilizer does not lead to more micro-organisms in the field. If it

did, just one dose of fertilizer would make a farm nitrogen rich for

years together.

Statement 2: Excessive use of nitrogen fertilizers resulting in soil

acidity is a well-known fact.

Statement 3: Nitorgen fertilizers break down into nitrates and travel

easily through the soil. Because it is water-soluble and can remain in
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groundwater for decades, the addition of more nitrogen over the

years has an accumulative effect.
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62. With reference to the International Union for Conservation of Nature
and Natural Resources (IUCN) and the Convention on International
Trade in Endangered Species of Wild Fauna and Flora (CITES),
which of the following statements is/are correct?

1. IUCN is an organ of the United Nations and CITES is an
international agreement between governments

2. IUCN runs thousands of field projects around the world to
better manage natural environments.

3. CITES is legally binding on the States that have joined it, but
this Convention does not take the place of national laws.

Select the correct answer using the code given below.

A 1 only

B 2 and 3 only

C 1 and 3 only

D 1, 2 and 3

Solution

IUCN is a voluntary organization, not an agency of United

Nations. Even if you knew this much, you could eliminate all

other options to select B.

Some facts about IUCN:
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Founded in 1948 as the world’s first global environmental

organisation

Today the largest professional global conservation network

A leading authority on the environment and sustainable

development

More than 1,200 member organizations including 200+

government and 900+ non-government organizations

A neutral forum for governments, NGOs, scientists, business

and local communities to find practical solutions to

conservation and development challenges

Thousands of field projects and activities around the world

CITES was drafted as a result of a resolution adopted in 1963 at a

meeting of members of the International Union for Conservation of

Nature (IUCN). States (countries) adhere voluntarily to the

agreement.

States that have agreed to be bound by the Convention (‘joined’

CITES) are known as Parties. Although CITES is legally binding on

the Parties – in other words they have to implement the Convention

– it does not take the place of national laws. Rather it provides a

framework to be respected by each Party, which has to adopt its own

domestic legislation to ensure that CITES is implemented at the

national level.
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63. The Fair and Remunerative Price of Sugarcane is approved by the

A Cabinet Committee on Economic Affairs

B Commission for Agricultural Costs and Prices

C Directorate of Marketing and Inspection, Ministry of Agriculture

D Agricultural Produce Marketing Committee

Solution

CACP recommends the fair and remunerative prices based on inter-

crop price parity, inflation considerations, fair return to farmers and

a host of other factors.

The cabinet committee on Economic Affairs approves the fair

and remunerative price (FRP) of sugarcane.

However, state governments are free to fix their own state advised

price (SAP) and millers can offer any price above the FRP.
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64. What explains the eastward flow of the equatorial counter-current?

A The Earth’s rotation on its axis

B Convergence of the two equatorial currents

C Difference in salinity of water

D Occurrence of the belt of calm near equator

Solution

The equatorial countercurrents are driven by a distinct surface wind

pattern in the tropics.

Strong westward trade winds result in westward surface flow in

most of the tropical Atlantic and Pacific Oceans.

However, several hundred mi. (km.) north of the equator the winds

are much weaker, in comparison.

The stronger winds to the south pile up water where the winds are

weak.

As a result, the surface of the ocean can be up to 6 in. (15 cm.)

higher and the thermocline (region of strongest decrease of

temperature with increasing depth) as much as 328 ft. (100 m.)

deeper than it is directly to the north.

The excess water flows eastward under the influence of the Earth’s

rotation, giving rise to the equatorial countercurrents.
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65. Consider the following pairs :

Place of Pilgrimage: Location

1. Srisailam : Nallamala Hills
2. Omkareshwar : Satmala Hills
3. Pushkar : Mahadeo Hills

Which of the above pairs is/are correctly matched?

A 1 only

B 2 and 3 only

C 1 and 3 only

D 1, 2 and 3

Solution

The town (as well as the mandal) of Srisailam is reputed for the

shrine of Lord Mallikarjuna on the flat top of Nallamala Hills.

Omkareshwar is situated on the Mandhata hills in Madhya

Pradesh, known in ancient times as Shivpuri. The temple dates back

to the Krita Yuga.

River Narmada flows here around the Mandhata hill in the form of

an Om (Omkaram).
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The Mahadeo Hills are a range of hills in Madhya Pradesh state of

central India. But, Pushkar lies in Ajmer, Rajasthan.
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66. With reference to Rowlatt Satyagraha, which of the following
statements is/are correct?

1. The Rowlatt Act was based on the recommendations of the
‘Sedition Committee’

2. In Rowlatt Satyagraha Gandhiji tried to use the Home Rule
League

3. Demonstrations against the Simon Commission coincided with
the Rowlatt Satyagraha

Select the correct answer using the code given below.

A 1 only

B 1 and 2 only

C 2 and 3 only

D 1, 2 and 3

Solution

Rowlatt Act was passed on the recommendations of the Rowlatt

Committee and named after its president, British judge Sir Sidney

Rowlatt. The Rowlatt Committee was primarily a Sedition

Committee and was appointed by the British Empire in India in

1918.
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The objective of the Rowlatt committee was to assess political

violence and terrorism in the country, particularly in Punjab and

Bengal.

As a result of recommendations of the Rowlatt committee, the

Rowlatt Act, which was an expansion of the Defence of India Act

1915, was imposed in reaction to the threat in Bengal and Punjab.

In organizing Rowlatt Satyagraha, Gandhiji tried to utilize three

types of political networks – the Home Rule, certain Pan-Islamist

groups, and a Satyagraha Sabha which he himself started at Bombay.

The Simon Commission was appointed to suggest future

constitutional reforms in India.

Simon Commission arrives in Bombay on 3 February 1928.
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67. Among the following which were frequently mentioned in the news
for the outbreak of Ebola virus recently?

A Syria and Jordan

B Guinea, Sierra Leone and Liberia

C Philippines and Papua New Guinea

D Jamaica, Haiti and Surinam

Solution

The current outbreak of Ebola began in Guinea in December 2013

and then spread to Liberia and Sierra Leaone.
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68. With reference to ‘fly ash’ produced by the power plants using the
coal as fuel, which of the following statements is/are correct?

1. Fly ash can be used in the production of bricks for building
construction

2. Fly ash can be used as a replacement for some of the Portland
cement contents of concrete

3. Fly ash is made up of silicon dioxide and calcium oxide only,
and does not contain any toxic elements.

Select the correct answer using the code given below

A 1 and 2

B 2 only

C 1 and 3

D 3 only

Solution

Fly ash from coal-fired thermal power stations is an excellent

potential raw material for the manufacture of construction material

like blended cement, fly ash bricks, mosaic tiles and hollow blocks.

It also has other, high volume applications and can be used for

paving roads, building embankments, and mine fills.
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Fly ash contains trace concentrations of heavy metals and other

substances that are known to be detrimental to health in sufficient

quantities.

Potentially toxic trace elements in coal include arsenic, beryllium,

cadmium, barium, chromium, copper, lead, mercury, molybdenum,

nickel, radium, selenium, thorium, uranium, vanadium, and zinc.
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69. With reference to ‘dugong’, a mammal found in India, which of the
following statements is/are correct?

1. It is a herbivorous marine animal.
2. It is found along the entire coast of India
3. It is given legal protection under Schedule 1 of the Wildlife

(Protection) Act, 1972.

Select the correct answer using the code given below.

A 1 and 2

B 2 only

C 1 and 3

D 3 only

Solution

The dugong is the only living representative of the once-diverse

family Dugongidae; its closest modern relative, Steller’s sea cow

(Hydrodamalis gigas), was hunted to extinction in the 18th century.

The dugong is the only strictly marine herbivorous mammal, as all

species of manatee use fresh water to some degree.

In India, it is found off the Gujarat Coast (Gulf of Kutch), Tamil

Nadu coast (Gulf of Mannar), Palk Bay and Andaman and

Nicobar Islands.
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70. Who of the following was/were economic critic/critics of colonialism
in India?

1. Dadabhai Naoroji
2. G. Subramania Iyer
3. R. C. Dutt

Select the correct answer using the code given below.

A 1 only

B 1 and 2 only

C 2 and 3 only

D 1, 2 and 3

Solution

Dadabhai Naoroji, the ‘Grand Old Man of India’, who after a

brilliant analysis of the colonial economy put forward the theory of

economic drain in Poverty and Un British Rule in India.

G.V. Joshi, G. Subramaniya lyer, G.K. Gokhale, Prithwis Chandra

Ray and hundreds of other political workers and journalists analysed

every aspect of the economy and subjected the entire range of

economic issues and colonial economic policies to minute scrutiny.
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Romesh Chandra Dutt, a retired ICS officer, published ‘The

Economic History of India’ at the beginning of the 20th century in

which he examined in minute detail the entire economic record of

colonial rule since 1757.

Dadabhai Naoroji, G. Subramaniya lyer and R. C. Dutt raised basic

questions regarding the nature and purpose of British rule.

Eventually, they were able to trace the process of the colonialization

of the Indian economy and conclude that colonialism was the main

obstacle to India’s economic development.

They clearly understood the fact that the essence of British

imperialism lay in the subordination of the Indian economy to the

British economy.
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71. Which one of the following issues the “Global Economic Prospects”
report periodically?

A The Asian Development Bank

B The European Bank for Reconstruction and Development

C The US Federal Reserve Bank

D The World Bank

Solution

The World Bank Reports the ‘Global Economic Prospect’.

It is also called a flagship report by the World Bank Group.

However, the IMF publishes the ‘Global Economic Outlook’.
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72. When the Reserve Bank of India reduces the Statutory Liquidity by
50 basis points, which of the following is likely to happen?

A India’s GDP growth rate increases drastically

B Foreign Institutional Investors may bring more capital into our country

C Scheduled Commercial Banks may cut their lending rates

D It may drastically reduce the liquidity to the banking system

Solution

If SLR is reduced, banks have to park lesser money with RBI in

form of securities, cash etc.

So, they have more money to lend and the return on lending is also

greater than what they get in SLR.

Hence, the scheduled commercial banks may cut their lending rates.
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73. With reference to the use of nanotechnology in health sector, which of
the following statements is/are correct?

1. Targeted drug delivery is made possible by nanotechnology
2. Nanotechnology can largely contribute to gene therapy

Select the correct answer using the code given below.

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

Nanosystems have significantly different biological properties from

large-sized systems (e.g. implants or microparticles) that could be

used effectively to overcome problems in drug and gene therapy.

In drug therapy, we face the problems of inefficacy or nonspecific

effects; hence, nanosystems are being developed for targeted drug

therapy.

In gene therapy using non-viral systems, the main issues are

relatively transient gene expression and lower efficiency than viral

vectors.
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Research efforts have focused on understanding the barriers in gene

delivery so that non-viral systems can be developed that are as

effective as viral systems in gene transfection.
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74. In India, markets in agricultural products are regulated under the

A Essential Commodities Act, 1955

B Agricultural Produce Market Committee Act enacted by States

C Agricultural Produce (Grading and Marking) Act, 1937

D Food Products Order, 1956 and Meat and Food Products Order, 1973

Solution

Agricultural Markets in most parts of the Country are established

and regulated under the State APMC Acts.

The whole geographical area in the State is divided and declared as a

market area wherein the markets are managed by the Market

Committees constituted by the State Governments.

Once a particular area is declared a market area and falls under the

jurisdiction of a Market Committee, no person or agency is allowed

freely to carry on wholesale marketing activities.
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75. Which one of the following is the national aquatic animal of India?

A Saltwater crocodile

B Olive ridley turtle

C Gangetic dolphin

D Gharial

Solution

River Dolphin is the National Aquatic Animal of India. This

mammal is also said to represent the purity of the holy Ganga as it

can only survive in pure and fresh water.

They are locally known as susu, because of the noise it makes while

breathing.

This species inhabits parts of the Ganges, Meghna and Brahmaputra

rivers in India, Nepal, Bhutan and Bangladesh, and the Karnaphuli

River in Bangladesh.

River dolphin is a critically endangered species in India and

therefore, has been included in the Schedule I for the Wildlife

(Protection) Act, 1972.

The main reasons for decline in population of the species are

poaching and habitat degradation due to declining flow, heavy

1/20/25, 12:43 PM Entri | Entri Content Platform

https://streamline.entri.app/#/questioncollections/61231/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en 126/167



siltation, construction of barrages causing physical barrier for this

migratory species.
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76. With reference to Congress Socialist Party, consider the following
statements:

1. It advocated the boycott of British goods and evasion of taxes.
2. It wanted to establish the dictatorship of proletariat.
3. It advocated separate electorate for minorities and oppressed

classes.

Which of the statements given above is/are correct?

A 1 and 2 only

B 3 only

C 1, 2 and 3

D None

Solution

The Congress Socialist Party formed a group of socialists within the

Congress. It aimed at achieving complete Independence of India

from imperialism and the establishment of a socialist society.

The blueprint adopted at one of its conferences strived for “All

power to the toiling masses, nationalisation of key industries,

abolition of feudalism and landlordism without compensation,

distribution of land and co-operative and collective farming.”
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The first all-India conference of the socialists was held on May

17,1934 at Patna under the presidentship of Acharya Narendra Dev.

Jayaprakash Narayan, Achyut Patwardhan, Yusuf Mehrally and

Ashok Mehta assisted Acharya Narendra Dev in the formation of the

CSP.

Although Jawaharlal Nehru was a socialist, he did not join the CSP.

The Indian Freedom leaders always asked people to not pay the

taxes and therer is basic difference between non-payment of taxes

and tax evasion.
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77. Consider the following statements :

1. The Rajya Sabha has no power either to reject or to amend a
Money Bill

2. The Rajya Sabha cannot vote on the Demands for Grants.
3. The Rajya Sabha cannot discuss the Annual Financial

Statement.

Which of the statements given above is/are correct?

A 1 only

B 1 and 2 only

C 2 and 3 only

D 1, 2 and 3

Solution

Only the Lok Sabha can vote on the demand for grants.

Rajya Sabha can only keep a money bill for not more than 14 days,

before which the bill should be either returned to Lok Sabha with

recommendations, or passed by the Rajya Sabha.

In case of a disagreement between both the houses, the bill is

deemed passed in the form it was passed by Lok Sabha.

Every year the budget (annual financial statement as mentioned in

the constitution) is discussed by the Rajya Sabha.
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78. The Government of India Act of 1919 clearly defined

A the separation of power between the judiciary and the legislature

B the jurisdiction of the central and provincial governments

C the powers of the Secretary of State for India and the Viceroy

D None of the above

Solution

It relaxed the central control over the provinces by demarcating and

separating the central and provincial subjects.

The central and provincial legislatures were authorised to make laws

on their respective list of subjects.

However, the structure of government continued to be centralised

and unitary.

It further divided the provincial subjects into two parts—transferred

and reserved which is what we know as diarchy.
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79. Which of the following brings out the ‘Consumer Price Index
Number for the Industrial Workers’?

A The Reserve Bank of India

B The Department of Economic Affairs

C The Labour Bureau

D The department of Personnel and Training

Solution

The CPI-IW series on scientific lines was first introduced with base

1960=100 which was based on the results of Family Living Survey

conducted in 1958-59 at 50 industrially important centres.

The series was then, updated on base 1982=100 and a revision in

1999-2000 has further updated the base on 2001=100.

The current series of CPI-IW with base year 2001=100 covers 78

industrially important centers spread across the country.

It reflects the consumption pattern of the working class population.
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80. In the context of modern scientific research, consider the following
statements about ‘IceCube’, a particle detector located at South Pole,
which was recently in the news :

1. It is the world’s largest neutrino detector, encompassing a cubic
kilometre of ice.

2. It is a powerful telescope to search for dark matter
3. It is buried deep in the ice.

Which of the statements given above is/are correct?

A 1 only

B 2 and 3 only

C 1 and 3 only

D 1, 2 and 3 only

Solution

IceCube is a particle detector at the South Pole that records the

interactions of a nearly massless subatomic particle called the

neutrino.

IceCube searches for neutrinos from the most violent astrophysical

sources: events like exploding stars, gamma-ray bursts, and

cataclysmic phenomena involving black holes and neutron stars.
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The IceCube telescope is a powerful tool to search for dark matter

and could reveal the physical processes associated with the

enigmatic origin of the highest energy particles in nature.

In addition, exploring the background of neutrinos produced in the

atmosphere, IceCube studies the neutrinos themselves; their energies

far exceed those produced by accelerator beams.

IceCube is the world’s largest neutrino detector, encompassing a

cubic kilometer of ice.

It is buried beneath the surface, extending to a depth of about 2,500

meters.

Burying it deep in ice is important to enhance the precision of the

detector.
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81. The terms ‘Agreement on Agriculture’, ‘Agreement on the
Application of Sanitary and Phytosanitary Measures’ and Peace
Clause’ appear in the news frequently in the context of the affairs of
the:

A Food and Agriculture Organization

B United Nations Framework Conference on Climate Change

C World Trade Organization

D United Nations Environment Programme

Solution

The end of the Uruguay Round resulted in the formation of the

WTO, which established a substantial set of rules regarding trade in

goods — including agricultural goods, included agreements on trade

in services and on trade-related aspects of intellectual property

rights, as well as a strong and comprehensive mechanism to settle

trade disputes between member countries.

The WTO oversees about 60 different agreements which have the

status of international legal texts.

Member countries must sign and ratify all WTO agreements on

accession.
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Some of the most important agreements are, Agreement on

Agriculture (AoA), General Agreement on Trade in Srvices (GATS),

Agreement on Trade-Related Aspects of Intellectual Property Rights

(TRIPS), Agreement on the Application of Sanitary and

Phytosanitary Measures (SPS), Agreement on Technical Barriers to

Trade, Agreement on Customs Valuation, etc.
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82. With reference to ‘Near Field Communication (NFC) Technology’,
which of the following statements is/are correct?

1. It is a contactless communication technology that uses
electromagnetic radio fields

2. NFC is designed for use by devices which can be at a distance of
even a metre from each other

3. NFC can use encryption when sending sensitive information.

Select the correct answer using the code given below.

A 1 and 2 only

B 3 only

C 1 and 3 only

D 1, 2 and 3

Solution

Near field communication, abbreviated NFC, is a form of

contactless communication based on electromagnetic radio fields

between devices like smartphones or tablets.

Contactless communication allows a user to wave the smartphone

over a NFC compatible device to send information without needing

to touch the devices together or go through multiple steps setting up

a connection.
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Bluetooth can connect to devices up to 32 feet away, yet near field

communication can connect to devices at a maximum distance of 4

centimeters on average.

Both businesses and individuals benefit from near field

communication technology.

By integrating credit cards, subway tickets, and paper coupons all

into one device, a customer can board a train, pay for groceries,

redeem coupons or store loyalty points, and even exchange contact

information all with the wave of a smartphone.

1/20/25, 12:43 PM Entri | Entri Content Platform

https://streamline.entri.app/#/questioncollections/61231/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en 139/167



83. The area known as ‘Golan Heights’ sometimes appears in the news in
the context of the events related to:

A Central Asia

B Middle East

C South-East Asia

D Central Africa

Solution

Golan Heights, also called Golan Plateau, overlooking the Jordan

River valley, was part of extreme southwestern Syria until 1967,

when it came under Israeli military occupation, and in December
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1981, Israel unilaterally annexed the part of the Golan.
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84. Convertibility of rupee implies:

A Being able to convert rupee notes into gold

B Allowing the value of rupee to be fixed by market forces

C

Freely permitting the conversion of rupee to other currencies and vice versa

D Developing an international market for currencies in India

Solution

Rupee convertibility means the system where any amount of rupee

can be converted into any other currency without any question asked

about the purpose for which the foreign exchange is to be used.

Non-convertibility can generally be defined with reference to

transaction for which foreign exchange cannot be legally purchased

(e.g. import of consumer goods etc), or transactions which are

controlled and approved on a case by case basis (like regulated

imports etc).

A move towards free convertibility implies a reduction in the

number / volume of the above types of transaction.
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85. Consider the following pairs :

Medieval Indian State : Present Region

1. Champaka : Central India
2. Durgara : Jammu
3. Kuluta : Malabar

Which of the above pairs is/are correctly matched?

A 1 and 2

B 2 only

C 1 and 3

D 3 only

Solution

The foothills of the Himalayas lent themselves admirably to such

small kingdoms, owing to the nature of the country.

The ninth century saw the rise of a number of hill states, some of

which maintained their identity until recent years, despite their wars

with each other and the frequent raids from the men of the plains.

States such as Champaka (Chamba), Durgara (jammu), Trigarta

(jalandhar), Kuluta (Kulu), Kumaon and Garhwal managed to

remain outside the main areas of conflict in the northern plains.
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Champaka: Chamba (Himanchal Pradesh)

Durgara: Jammu (Jammu and Kashmir)

Kuluta: Kulu (Himanchal Pradesh)
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86. Consider the following rivers :

1. Vamsadhara
2. Indravati
3. Pranahita
4. Pennar

Which of the above are tributaries of Godavari?

A 1,2 and 3

B 2,3 and 4

C 1,2 and 4

D 2 and 3 only

Solution

The Vamsadhara River originates in the Kalahandi district of Odisha

and runs for a distance of about 254 kilometers, where it joins the

Bay of Bengal at Kalingapatnam, Andhra Pradesh. It is not a

tributary of Godavari.

Indravati River is a tributary of the Godavari River, in central India.

It originates from the Eastern Ghats of Dandakaranya range in

Kalahandi district and flows in a westerly direction; enters Jagdalpur

in Chhattisgarh state. It further traverses in the westerly direction
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and thereafter in southern direction before finally meeting Godavari

River at the border of Maharashtra, Chhattisgarh and Telangana.

Pranhita River flows on the edge of Gadchiroli district in

Maharashtra and Adilabad district in Andhra Pradesh. The name

Pranhita is derived from the nature of combined flow of the rivers

Painganga and Wainganga. The Painganga River joins Vainganga

near Aheri. The river then flows up to Sironcha. The river finally

empties into the Godavari River, near Sironcha in Maharashtra.

The Pennar rises in the Chenna Kasava hill of the Nandidurg range,

in Chikkaballapura district of Karnataka and flows towards east

eventually draining into the Bay of Bengal. It is not a tributary of

Godavari.

1/20/25, 12:43 PM Entri | Entri Content Platform

https://streamline.entri.app/#/questioncollections/61231/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en 146/167



87. When a bill is referred to a joint sitting both the Houses of the
Parliament, has to be passed by

A a simple majority of member present and voting

B three-fourths majority of member present and voting

C two-thirds majority of the House

D absolute majority of the House

Solution

The provision of joint sitting under article 108, is available only for

ordinary bills or Financial bills, but not nor Money bills or

constitutional Amendment bills.

The joint sitting is governed by rules of procedure of L.S. and not

Rajya Sabha.

The bill needs to be passed by the majority of the total number of

members of both the houses present and voting in the joint sitting.
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88. Which one of the following regions of India has a combination of
mangrove forest, evergreen forest and deciduous forest?

A North Coastal Andhra Pradesh

B South-West Bengal

C Southern Saurashtra

D Andaman and Nicobar Islands

Solution

The South Andaman forests have a profuse growth of epiphytic

vegetation, mostly ferns and orchids. The Middle Andamans

harbours mostly moist deciduous forests.

North Andamans is characterized by the wet evergreen type, with

plenty of woody climbers.

The North Nicobar Islands (including Car Nicobar and Battimalv)

are marked by the complete absence of evergreen forests, while such

forests form the dominant vegetation in the central and southern

islands of the Nicobar group.

Grasslands occur only in the Nicobars, and while deciduous forests

are common in the Andamans, they are almost absent in the

Nicobars.
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The present forest coverage is claimed to be 86.2% of the total land

area.
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89. Which of the following kingdoms were associated with the life of
Buddha?

1. Avanti
2. Gandhara
3. Kosala
4. Magadha

Select the correct answer using the code given below

A 1,2 and 3

B 2 and 3 only

C 1,3 and 4

D 3 and 4 only

Solution

Prasenajit, king of Kosala, was the Buddha’s contemporary.

Buddha wandered through the towns and villages in the kingdoms of

Kosala and Magadha teaching his philosophy.

Gandhara is not directly associated with the life of Buddha. It was

expansion of Maurya empire that Gandhara received much Buddhist

influence, notably during the reign of Asoka.

Pradyota, the ruler of Avanti, was contemporary to Gautama

Buddha. Avanti was not directly related to the life of Buddha.
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According to the Buddhist text, the Anguttara Nikaya, Avanti was

one of the sisteen mahajanapadas of the 6th century BC.
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90. Which one of the following is associated with the issue of control and
phasing out of the use of ozone-depleting substances?

A Bretton Woods Conference

B Montreal Protocol

C Kyoto Protocol

D Nagoya Protocol

Solution

The Montreal Protocol is widely considered as the most successful

environment protection agreement.

The Protocol sets out a mandatory timetable for the phase out of

ozone depleting substances.

This timetable has been reviewed regularly, with phase out dates

accelerated in accordance with scientific understanding and

technological advances.

The Montreal Protocol sets binding progressive phase out

obligations for developed and developing countries for all the major

ozone depleting substances, including CFCs, halons and less

damaging transitional chemicals such as HCFCs.
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91. Consider the following : The arrival of Babur into India led to the

1. introduction of gunpowder
2. introduction of the arch and dome in the region’s architecture
3. establishment of Timurid dynasty

Select the correct answer using the code given below:

A 1 and 2 only

B 3 only

C 1 and 3 only

D 1,2 and 3

Solution

Statement 1: Chinese gunpowder technology is believed to have

arrived in India by the mid-14th century, but could have been

introduced much earlier by the Mongols, who had conquered both

China and some borderlands of India, perhaps as early as the mid-

13th century.

The unification of a large single Mongol Empire resulted in the free

transmission of previously top-secret Chinese technology into

Mongol conquered parts of India.
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Regardless, it is believed that the Mongols used Chinese gunpowder

weapons during their invasions of India.

If statement 1 is wrong, the only possible option is B.
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92. The Government of India has established NITI Aayog to replace the

A Human Rights Commission

B Finance Commission

C Law Commission

D Planning Commission

Solution

NITI Aayog or National Institution for Transforming India Aayog is

a policy think-tank of Government of India that replaces Planning

Commission and aims to involve the states in economic policy-

making in India.

It will be providing strategic and technical advice to the central and

the state governments i.e. by adopting bottom-up approach rather

than traditional top-down approach as in planning commission.

The Prime Minister heads the Aayog as its chairperson.
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93. What is Rio+20 Conference, often mentioned in the news?

A It is the United nations Conference on Sustainable Development

B It is a Ministerial Meeting of the World Trade Organization

C It is a Conference of the Inter-governmental Panel on Climate Change

D

It is a Conference of the Member Countries of the Convention on Biological
Diversity

Solution

“Rio+20” is the short name for the United Nations Conference on

Sustainable Development which took place in Rio de Janeiro, Brazil

in June 2012 – twenty years after the landmark 1992 Earth Summit

in Rio.

At the Rio+20 Conference, world leaders, along with thousands of

participants from the private sector, NGOs and other groups, came

together to shape how we can reduce poverty, advance social equity

and ensure environmental protection on an ever more crowded

planet.

The official discussions focussed on two main themes: how to build

a green economy to achieve sustainable development and lift people

out of poverty; and how to improve international coordination for

sustainable development.
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At Rio+20, more than $513 billion was pledged to build a

sustainable future. It signaled a major step forward in achieving the

future we want.
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94. Consider the following statements :

1. The Executive Power of the union of India is vested in the
Prime Minister.

2. The Prime Minister is the ex officio Chairman of the Civil
Services Board.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

Under Article 53, the executive power of the union is vested in the

President of India, who will exercise it with the help of officers

subordinate to him. (PM+COM+Bureaucracy)

Cabinet Secretary is the ex-officio chair man of civil Services Board.

He works under the direct charge of the Prime Minister.
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95. The term ‘Goldilocks Zone’ is often seen in the news in the context of

A the limits of habitable zone above the surface of the Earth

B regions inside the Earth-like planets in outer space

C search for the Earth-like planets in outer space

D search for meteorites containing precious metals

Solution

In astronomy and astrobiology, the circumstellar habitable zone

(CHZ), or simply the

habitable zone, is the region around a star within which planetary-mass

objects with sufficient atmospheric pressure can support liquid water at

their surfaces.

The bounds of the CHZ are calculated using the known requirements

of Earth’s biosphere, its position in the Solar System and the amount

of radiant energy it receives from the Sun.

Due to the importance of liquid water to life as it exists on Earth, the

nature of the CHZ and the objects within is believed to be

instrumental in determining the scope and distribution of Earth-like

extraterrestrial life and intelligence.
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The habitable zone is also called the Goldilocks zone, a metaphor of

the children’s fairy tale

of Goldilocks and the Three Bears, in which a little girl chooses from sets

of three items, ignoring the ones that are too extreme (large or small, hot or

cold, etc.), and settling on the one in the middle, which is “just right”.
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96. Who of the following organized a march on the Tanjore coast to
break the Salt Law in April 1930?

A V.O Chidambaram Pillai

B C. Rajagopalachari

C K. Kamaraj

D Annie Besant

Solution

In Tamil Nadu C. Rajagopalachari led a Salt March from

Tiruchirapalli to Vedaranyam on the Tanjore Coast.

He was arrested on 30 April, 1930.
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97. Who of the following founded a new city on the south bank of a
tributary to river Krishna and undertook to rule his new kingdom as
the agent of a deity to whom all the land south of the river Krishna
was supposed to belong?

A Amoghavarsha I

B Ballala II

C Harihara I

D Prataparudra II

Solution

He was the founder of Vijayanagar Empire.

His initial military exploits established his control over the valley of

Tungabhadra River (a tributary of Krishna), and gradually he

expanded his control to certain regions of Konkan and Malabar

Coast.

By that time Hoysalas had lost its last ruler Veera Ballala III who

died fighting the Sultan of Madurai, and the vacuum so created

facilitated Harihara I to emerge as a sovereign power.

The entire Hoysala territories came under his rule directly.
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98. Consider the following statements :

1. The first woman President of the Indian National Congress was
Sarojini Naidu.

2. The first Muslim President of the Indian National Congress was
Badruddin Tyabji

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

Annie Besant was the first woman President of Indian National

Congress.

She presided over the 1917 Calcutta session of the Indian National

Congress.

Badruddin Tyabji was the first muslim president of Indian National

Congress.

He was elected in 1887 Madras session.
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99. Which of the following statements regarding ‘Green Climate Fund’
is/are correct?

1. It is intended to assist the developing countries in adaptation
and mitigation practices to counter climate change.

2. It is founded under the aegis of UNEP, OECD, Asian
Development Bank and World Bank

Select the correct answer using the code given below.

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

The Green Climate Fund (GCF) is a fund within the framework of

the UNFCCC founded as a mechanism to redistribute money from

the developed to the developing world, in order to assist the

developing countries in adaptation and mitigation practices to

counter climate change.

The Green Climate Fund was designated as an operating entity of

the financial mechanism of the UNFCCC, in accordance with Article

11 of the Convention.
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Arrangements will be concluded between the Conference of the

Parties (COP) and the Fund to ensure that it is accountable to, and

functions under the guidance of, the COP.

The Fund is governed and supervised by a Board that will have full

responsibility for funding decisions and that receives the guidance of

the COP.
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100. Indira Gandhi Peace Prize for Peace, Disarmament and
Development for 2014 was given to which of the following?

A Bhabha Atomic Research Centre

B Indian Institute of Science

C Indian Space Research Organization

D Tata Institute of Fundamental Research

Solution

The Indira Gandhi Prize or the Indira Gandhi Peace Prize or the

Indira Gandhi Prize for Peace, Disarmament and Development is the

prestigious award accorded annually by India to individuals or

organizations in recognition of creative efforts toward promoting

international peace, development and a new international economic

order; ensuring that scientific discoveries are used for the larger

good of humanity, and enlarging the scope of freedom.

The prize carries a cash award of 2.5 million Indian rupees and a

citation.

The recipients are chosen from a pool of national and international

nominees. Angel Merkel (2013) and ISRO (2014) were the

recipients of the award.
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